R I P S
1105 & B #8515 8 i 4 g 23R4L %

[#F i 4 2] 4%

— T E AL FIE —
TR 904 4
ﬁ’fé‘"‘v;“ :

cHRGRADRY M E 3 E B D Feng 2

’ -—r

T WU P oo
-%éﬁ%@?@ﬁﬁrgﬁJﬁriéj
Rt A ISP BT A TERE
FiEE .

7}){,’ «'l,‘_',/ gé JIIE‘ —fd




B AAMEG I HT R AT PRFL LAY PR FEBeR A TESL v

1.3 X & #ci% B VX+2560 — 2344 — X =68 » 2 + 28/x+2560 + 272344 — X iz & = ?

x+y+g+—=10

2. RKjz-> izl Xy s HY Xy iR A
(x2+9)(y2+4):24xy

3. xehf frdcs S fetax’ —14x—7=07% §1la, B > @y fadks 2 2y —2(b-1)y+b*-2b=07% % 19

7,80 8 2<y<8<4 > x i hv 2 —i+2(27 6°)+14=0 > £ F Hamfp R i @?
a+pf of

R EERACEREEY - BRA AR G W?”"”ﬁ A
mi”mé #Bim_L.‘I! T]’fr—L‘ﬁ-thrE’:'\'mifgg ‘i’ ’
é* g TR EFNMEHP S G s ’i”ﬁ%&_lf&'l"i

e B (b)) =7

5. 4+ Bl¥rF > ERL T~ BZ £75AABC > ¢ wP,QRA %5 AB ~ BC ~ CAZ i} eh= g ¥
AP:PB=BQ:QC=CR:RA=2:1> £CP,AQ,BR% @ 2 **B. A" B, C' » * AABC hs # % 15 » 32 £ AA'B'C' th #

w9

¥ 1 F %3 F




6. = & f(X)=ax+bx+c » F#rF xe[0,1] - 2 F [f(x)| <1 Kfa|+[b|+|c] b+ B 5 72

T.4ct B > L 72 83, ABCD » % /BAD=72° > DF #=% AB 2 AC** EE.* CE=2AD > ¢ & /CEDthA #ic % P ?

D C

72°
E

8.c wi Adcr{a}F - 955 p AT <, <a;<...<@, > N23 Fa+a,+a,+..+8, =110 - FE & LigiF e
GEE S STRENE IR N

9.3k a, % 7 & n dgpig el (n 51 K B

10. fh% M~ RIS 1 BA R p Rt B Y RB - R G f RANMEIFE I T AL K
3" "{“ﬁ?’r& Bl B it oo g s b g en i ok o PRSI AR 3R T 2 5 Y Aot B

f—kidr;m.rgxm,{; ,én%rkl_,p 17

11.2% AABC ¥ » AB=8,BC=10,AC=12 > 5G| ~ 55 AMBCz £ ¥ p . » B|Gl 2 i&
A

FEAN

¥ 2F %3 F




A QR i AQ R

L F IS AC I RE - ¥R QRER 5 iw?

VA
vv

4~ AD > 2 AB -~ AC ~ BD ~CDA % 5 2 (2 ] »

2

PEES DRF L R TS

Fi’?*u~4%é poo & RE15A o

TH e Y EPEARR T

L.

2.

Ffcabcmy a0 (b-1)°=4ac » FHEM : T

ax,” +bx, +¢ = X,
ax,” +bx, +c=x,
: F/EI— ﬁ;o

2
Xo20  PXoz0 € = Xy

2
Axygp;” +DXp00 +C =X

Z 475 AABC P 7~ B AP,BP,CP ¢t £ 5 A 4 2 %8 BC,

®P 3

EcA

PQ < (3-2v2)AD.

GFER L)
*¥3 F 3 B

¥

71 2021 B B H X, Xy, -en,

Xpgpy “T it B_ENBH = & 47

AC,AB*'2D,E,F » ¥ EF 2 AD* Q2 »




